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FEEII 1,676 2,342 2,440 4,782
FHIG 1,805 2,497 2,621 5,118
FEF 542 811 761 1572
AEYE—TH 240 316 357 673
HAEYRIZTH 445 657 695 1,352
HAEYBRI=TH 475 661 697 1,358
AEYETETH 370 514 540 1,054
HAEYERTRTH 425 550 569 1,119
AEYETIRTH 248 354 370 724
FFE 430 619 605 1,224
FXEE 604 694 763 1,457
FEM 707 862 885 1,747
FREFH 841 1,044 969 2,013
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FHER 958 1,362 1,352 2,714
FEEA 1,227 1,414 1,581 2,995
FERII 626 828 843 1,671
FEEH 1,206 1,638 1,646 3,284
FTHREE 1,230 1,768 1,785 3,553
FHRE 2,601 3,329 3,417 6,746
FiTM 1,235 1,664 1,707 3,371
F=8 1,365 1,705 1,668 3,373
FihsE 362 517 531 1,048
=EH—TH 202 256 233 489
EM4=TH 406 539 564 1,103
EMH=TH 238 327 327 654
EHMETH 127 191 185 376
F BTN 654 837 891 1,728
FXH 495 670 603 1,273
=F)I|H 344 479 487 966
FIER 458 670 641 1,311
FEH 370 568 574 1,142
FeuLM 1,391 1,772 1,870 3,642
FHIR 392 455 506 961
Al 1,112 1,322 1,343 2,665
AJIEEH 1574 2,039 2,077 4116
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BIIHFE 1,231 1,658 1,750 3,408
BIIEFH 270 268 270 538
AL 535 763 730 1,493
Rz 35 42 40 82
BIEL—TH 422 600 621 1,221
AIEWL=TH 370 511 551 1,062
F)IBE—TH 211 246 231 477
RIBE=ZTH 124 159 139 298
BIFRELUARE—TH 374 404 370 774
AIEWLAR=TH 316 364 373 737
BlFB—TH 77 82 83 165
BIFBZ=TH 225 261 295 556
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AIE=ZTH 524 693 742 1,435
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RII—TH 771 823 836 1,659
RII-TH 664 795 835 1,630
B 18 g JL [ 1,323 1,755 1,777 3,532
BEERES 1,511 2,191 2,162 4,353
B8 N R 443 667 561 1,228
BE S E 1,419 2,094 1,767 3,861
e R 277 311 244 555
[ 138 178 142 320
B5E b = 125 125 93 218
51535 BR 426 632 558 1,190
S5y Pa R 591 805 848 1,653
Rl 521 774 755 1,529
583 EE 1 436 687 627 1,314
5B EEA 1,593 2,212 2,100 4312
S8 &2 EE 554 712 663 1,375
S5k IR 124 140 119 259
55 E R 135 165 125 290
S8 E 101 106 91 197
SIB3ith ik 54 60 43 103
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